Due Fri., Aug 31 2012 PreAP Linear Motion 4

1. Convert the following:
A. 2.8 weeks to minutes

B. * 945x107° MHz to mHz (mega to milli):

C. 1,506x10* cL to GL:

2. Which axis: vertical or horizontal? A.  Isthe dependent variable? C. Is the independent variable?
B. _ Is the manipulated variable? D. Is the responsive variable?

w0 Position vs. Time 3. A. Find the slope of line segment A.

7o \A/ B. * Find the slope of line segment B.
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D. Determine the acceleration of each line segment
20 and graph them on the acceleration graph below.
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